

1) (20 points) Solve  $y'' + 2y' - 8y = 2e^{-2x} - e^{-x}$

$$m^2 + 2m - 8 = 0$$

$$\Delta = b^2 - 4ac$$

$$= 4 - 4(-8)(1)$$

$$= 4 + 32$$

$$= 36$$

$$m_1 = \frac{-b - \sqrt{\Delta}}{2a} = \frac{-2 - 6}{2} = -4$$

$$m_1 = -4$$

$$m_2 = \frac{-b + \sqrt{\Delta}}{2a} = \frac{-2 + 6}{2} = 2$$

$$m_2 = 2$$

$$y_h = c_1 e^{-4x} + c_2 e^{2x}$$

$$\text{Try } y_p = A x e^{-2x} + B x e^{-x}$$

$$\text{Try } y_p = A e^{-2x} + B e^{-x}$$

$$y'_p = A(-2x e^{-2x} + e^{-2x}) + B(-x e^{-x} + e^{-x})$$

$$y''_p = A(4x e^{-2x} - 2e^{-2x}) + B(x e^{-x} - 2e^{-x})$$

$$4A(x e^{-2x} - 4e^{-2x}) + B(x e^{-x} - 2e^{-x}) + 2A(-2x e^{-2x} + e^{-2x}) +$$

$$2B(-x e^{-x} + e^{-x}) = 8A x e^{-2x} - 8A e^{-2x} + 8B x e^{-x} - 8B e^{-x} = 2e^{-2x} - e^{-x}$$

$$e^{-2x}(4Ax - 4A - 4Ax + 2A - 8A) + e^{-x}(Bx - 2B - 2Bx + 2B + 8Bx)$$

$$= 2e^{-2x} - e^{-x}$$

$$-2A = 2$$

$$7B = 0$$

$$B = 0$$

$$y = y_h + y_p = c_1 e^{-4x} + c_2 e^{2x} - x e^{-2x} + 0$$

2) (20 points) Solve  $x^2 y'' - 3xy' + 3y = 2x^4 e^x$

$$y = x^m$$

$$(m-1)(m) - 3(m) + 3 = 0$$

$$m^2 - m - 3 + 3 = 0$$

$$m^2 - \cancel{m} - \cancel{3} + 3 = 0 \quad \leftarrow 4m + 3 = 0$$

$$m_1 = 1 \quad m_2 = 3 \quad (a+b+c=0)$$

$$Y_h = c_1 x + c_2 x^3$$

Try  $Y_p = (A x^4 + B x^3 + C x^2 + D x + F) e^x$

(X)

$$Y'_p = \underline{\hspace{2cm}}$$

$$Y''_p = \underline{\hspace{2cm}}$$

we replace in the equation

and by 2 derivations we get the constants

3) (20 points) Solve  $y'' + y = \sec x$

$$y'' + y = \frac{1}{\cos x}$$

$$m^2 + 1 = 0$$

$$m = \pm i$$

$$y = c_1 \cos x + c_2 \sin x$$

$$m_1 = 1 \quad m_2 = -1$$

$$Y_h = c_1 e^x + c_2 e^{-x}$$

$$e^x u_1 + u_2 e^{-x} = 0$$

$$e^x u_1' - u_2 e^{-x} = \sec x$$

$$W = \begin{vmatrix} e^x & e^{-x} \\ e^x & -e^{-x} \end{vmatrix} = e^x(-e^{-x}) - (e^{-x})(e^x) = -1 - 1 = -2$$

$$W_1 = \begin{vmatrix} 0 & e^{-x} \\ \frac{1}{\cos x} & -e^{-x} \end{vmatrix} = \frac{-e^{-x}}{\cos x} = -e^{-x} \cos x$$

$$u_1' = \frac{W_1}{W} = \frac{-e^{-x} \cos x}{-2} = \frac{1}{2} e^{-x} \cos x$$

$$W_2 = \begin{vmatrix} e^x & 0 \\ e^x & \frac{1}{\cos x} \end{vmatrix} = \frac{e^x}{\cos x}$$

$$u_2' = \frac{-\frac{1}{2} e^x}{\cos x}$$

$$y = c_1 e^x + c_2 e^{-x} + \frac{1}{2} \sec x$$

4) (20 points) Evaluate:

a)  $\mathcal{L}((e^t - e^{-t})^2)$

*Handwritten scribbles*

b)  $\mathcal{L}\left(\begin{cases} 0 & 0 \leq t \leq 2 \\ e^{2t} + 1 & t > 2 \end{cases}\right)$

*Handwritten notes:*  $e^{2t+1}$   $\int_0^{0.5t \leq 2}$   $t > 2$

a)  $\mathcal{L}(e^{2t} - e^{-2t})$

$\mathcal{L}(e^{2t}) - \mathcal{L}(e^{-2t})$

$\mathcal{L} = \frac{1}{s-2} + \frac{1}{s+2} = -\frac{2}{5}$

*Handwritten work for part b:*  
 $\mathcal{L}(e^{2t+1} u(t-2))$   
 $e^{-2s} \mathcal{L}(e^{2t+3})$   
 $e^{-2s} \mathcal{L}(e^{2t+3})$

b)  $\mathcal{L}\left(\begin{cases} 0 & 0 \leq t \leq 2 \\ e^{2t} + 1 & t > 2 \end{cases}\right)$

$\mathcal{L}(e^{2t+1} \begin{cases} 0 & 0 \leq t \leq 2 \\ 1 & t > 2 \end{cases})$

$\mathcal{L}(e^{2t+1} u(t-2)) = e^{-2s} \mathcal{L}(u(t+2))$

THE DEBATE CLUB

$$c) \mathcal{L}^{-1} \left[ \frac{s}{s^2 + 4s + 5} \right]$$

$$\mathcal{L}^{-1} \left[ \cancel{\frac{1}{s^2}} \frac{A}{s^2} + \frac{B}{4s} + \frac{C}{5} \right]$$

$$\cancel{\frac{1}{s^2}} \quad A = \frac{1}{20} \quad B = 0 \quad C = 0 \quad \text{(please refer to scratch)}$$

$$= \mathcal{L}^{-1} \left[ \frac{1}{20s^2} \right]$$

$$= \frac{1}{20} \mathcal{L}^{-1} \left[ \frac{1}{s^2} \right] = \frac{1}{20} t.$$

$$\frac{(\Delta+2)^2 + 1}{\Delta+2}$$

$$\Delta+2 \rightarrow \Delta$$

$$\frac{\Delta-2}{\Delta^2+1}$$

$$e^{-2t}$$

$$\Delta+2$$

5) (20 points) Solve the following IVP by the Laplace method.

$$y'' + 4y = u_{2\pi}(t) \sin(t) = \begin{cases} 0 & t < 2\pi \\ \sin(t) & t \geq 2\pi \end{cases}$$

$$y(0) = 0 \quad y'(0) = 0$$

$$y'' + 4y = u(t - 2\pi) \sin t$$

$$\mathcal{L}y'' + \mathcal{L}4y = \mathcal{L}u_{2\pi}(t) \sin(t)$$

$$s^2 y - s y(0) + 4y =$$

$$s^2 y - s y(0) + 4y =$$

$$s^2 y - s y(0) - e^{-2\pi s} + 4y = e^{-2\pi s} \mathcal{L} \sin(t - 2\pi)$$

$$\mathcal{L}y (s^2 + 4) = e^{-2\pi s} \frac{1}{s^2 + 1}$$

$$\mathcal{L}y = e^{-2\pi s} \frac{1}{(s^2 + 4)(s^2 + 1)}$$

$$y = \mathcal{L}^{-1} \frac{e^{-2\pi s}}{(s^2 + 4)(s^2 + 1)}$$